_“TALN

apiaLo

UEILA40_LZA4E Y

o
o

0.45

0.4

0.35

0.3

0.25

0.2

0.15

alphal3_4eX1X:cyclenum {run == 6087}

e

5396 5396.2 5396.4 5396.6 5396.8 5
cyclenum

deltad46_12X4eY:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

alpha4b_4ey4ay

6089

5088.5

6088

5087.5

6087

5086.5

6086

5085.5

6085

alpha46_4eY4aY:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum

run:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

deltal3_lzx4ex

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

segment:cyclenum {run == 6087}

e
- ......*............... e
*

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum




USI_1A

usi_4ey

=

0.5

usl_1X:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

usl_4eY:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum

usl_say

usl_12x

usl_4aY:cyclenum {run == 6087}

[

0.5

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum

usl_12X:cyclenum {run == 6087}

[

0.5

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum

usl_sex
=

05

6089

5088.5

6088

5087.5

6087

5086.5

6086

5085.5

usl_4eX:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

run:cyclenum {run == 6087}

6085

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum




USI_L1A

usI_aey

=

0.5

usr_1X:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

usr_4eY:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum

usr_say

usr_12x

usr_4aY:cyclenum {run == 6087}

[

0.5

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum

usr_12X:cyclenum {run == 6087}

[

0.5

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum

usr_aex
=

05

6089

5088.5

6088

5087.5

6087

5086.5

6086

5085.5

usr_4eX:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

run:cyclenum {run == 6087}

6085

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum




18000

16000

14000

12000

10000

usi_culo

8000

6000

4000

2000

1

usl_coill:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5

cyclenum

usl_caoil6:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

2500

2000

1500

1000

usl_coil/

500

[

usl_coil3:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5

cyclenum

usl_coil7:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum

[

usl_coll4

05

6089

5088.5

6088

5087.5

6087

5086.5

6086

5085.5

6085

usl_coil4:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

run:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum




usr_coill:cyclenum {run == 6087}

—-2000

—-4000

-6000

-8000

10000

12000

14000

16000

=

usI_coio

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

usr_coil6:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

-500

-1000

-1500

—-2000

-2500

usr_coll/

[

usr_coil3:cyclenum {run == 6087}

5396

5396.2 5396.4 5396.6 5396.8

5397
cyclenum

usr_coil7:cyclenum {run == 6087}

5396

5396.2 5396.4 5396.6 5396.8 5397

cyclenum

usr_coll4
=

05

6089

5088.5

6088

5087.5

6087

5086.5

6086

5085.5

6085

usr_coil4:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

run:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum




-100

-150

-200

-250

-300

-100

-150

-200

-250

1X_coill:cyclenum {run == 6087}

R S I
Codiov i iy iy iy
5396 53962 5396.4 5396.6 5396.8 5397
cyclenum
4eX_coill:cyclenum {run == 6087}
R S I
I S AP S PR

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

4eX_coil3

-10

-15

1X_coil3:cyclenum {run == 6087}

k

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum

4eX_coil3:cyclenum {run == 6087}

ST DT SIS RRSUINE RRLITS UIOPTE IO
5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

1X_coll/

4eXx_coll/

[

05

1

1X_coil7:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

4eX_coil7:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum




4dY_consd

4eY_cond

4aY_coild:cyclenum {run == 6087}

[
T

7 SO SRS S SR S A

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum

4eY_coil4:cyclenum {run == 6087}

1+

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

4ay_collb

4eY_collb

[

0.5

[

0.5

4aY_coil6:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum

4eY_coil6:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397

cyclenum

4ay_coll/

4eY_coll/

[

05

1

4aY_coil7:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

4eY_coil7:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum




-100

-150

-200

LZA_Colo
=

12X_coill:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

12X_coil6:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

12X_coll/

12X_coil3
W
o

[

12X_coil3:cyclenum {run == 6087}

5396

5396.2 5396.4 5396.6 5396.8 5397

cyclenum

12X_coil7:cyclenum {run == 6087}

5396

5396.2 5396.4 5396.6 5396.8 5397

cyclenum

12X_coll4
=

05

6089

5088.5

6088

5087.5

6087

5086.5

6086

5085.5

6085

12X_coil4:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum

run:cyclenum {run == 6087}

5396 5396.2 5396.4 5396.6 5396.8 5397
cyclenum
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